

$$\log_{mn}^P mn = b \quad \log_n^m m = a \quad \left| \begin{array}{l} 1.2 \frac{mn \times m}{mn} = 1 + 1.2 \frac{m}{mn} \end{array} \right.$$

$$\log_m m \cdot \frac{1}{\log_m m} = \frac{1}{1 + \log_m m} = \frac{1}{1 + \frac{1}{\log_m m}} = \frac{1}{1 + \frac{1}{a}} = \frac{1}{\frac{a+1}{a}} = \frac{a}{a+1}$$

$$\alpha_{20} \Rightarrow \frac{\alpha}{\alpha+1} \in (0, 1) \rightarrow 1 + \frac{\alpha}{\alpha+1} \in (1, 2) \rightarrow \left[1 + \frac{\alpha}{\alpha+1}\right] \leq 2$$

$\Delta 1) \sqrt{\frac{n}{\log \frac{1}{r}}} \quad 1 \cdot 2 \frac{n}{r} \Rightarrow n > 0 \quad \frac{n}{\log \frac{1}{r}} > 0 \quad \left(\begin{array}{l} 1 > n > 0 \rightarrow \log \frac{n}{r} > 0 \Rightarrow \frac{n}{\log \frac{1}{r}} > 0 \\ n > 1 \rightarrow \log \frac{n}{r} < 0 \Rightarrow \frac{n}{\log \frac{1}{r}} < 0 \end{array} \right)$
 $\frac{n}{\log \frac{1}{r}} \Rightarrow n \neq 1$
 $D = \log(1)$

$$1) \text{ z s } \frac{1 \cdot 2 \cdot \dots \cdot (n+1)(n-1)}{\sqrt{n-1} + 1}$$

$$D = \log(1)$$

$$n^2 - n - 1 \geq 0 \rightarrow n \geq 1$$

$$(1, 2) \rightarrow \phi - \psi$$

$$\sqrt{n-1} + 1 \neq 0 \rightarrow \sqrt{n-1} \neq -1$$

$$D_F = (-\infty, 1) \cup (1, \infty)$$

$$Y \begin{pmatrix} 1 & 2 \\ 2 & 9 \end{pmatrix} + \begin{pmatrix} 1 & 2 \\ 2 & 9 \end{pmatrix} \sqrt{9} = \begin{pmatrix} 1 & 2 \\ 2 & 9 \end{pmatrix} + \begin{pmatrix} 1 & 2 \\ 2 & 9 \end{pmatrix} \sqrt{9} = Y \rightarrow \begin{pmatrix} 1 & 2 \\ 2 & 9 \end{pmatrix} + \frac{1}{\sqrt{2}} = Y$$

$$1 - 2\sigma \rightarrow X + \frac{1}{X} = Y \rightarrow X^Y + 1 = YX \rightarrow X^N - YX + 1 = 0 \rightarrow (X-1)^N = 0$$

$$1.02^{\frac{2}{2}} \times 1.02^{\frac{1}{2}} - 1.02^{\frac{1}{2}} = 1.02^{\frac{1}{2}} - 1.02^{\frac{1}{2}} - 1.02^{\frac{1}{2}} = 1 - 0.18 - 0.18 = 0.64$$

$$\log 9 = 2 \log 3 = 2(0.477) = 0.954 \quad \log 10 = \log 2 + \log 5 = \log 2 - \log 4 + \log 10 = 1.1$$

$$0.12n^2 + 0.11n - 1.1 = 0 \Rightarrow n^2 + 11n - 11 = 0 \quad \Delta = 121 - 4(-11) = 196$$

$$n_1 - n_2 = \frac{\sqrt{\Delta}}{|a|} = \frac{\sqrt{196}}{1} = \frac{14}{1}$$

$$\log_2 8 = \frac{1}{\log_2 8} = \frac{1}{\frac{8}{16}} = 2$$

$$\log_2 8 + \log_2 8 = \log_2 16 = 4 + 1 = 5$$

$$1.2^r + 1.2^r = 1.2^{1f} = 2.4 + 1 = 3.4$$

$$\frac{1.21}{1.21} = \frac{1.21}{1.21} = \frac{1}{1} = 1$$

$$\log_2^p = \frac{1}{\log_2^p} = \frac{1}{\frac{1}{15}} = 15$$

$$\log_2^p + \log_2^p = \log_2^b = \frac{1}{\frac{1}{15}} + \frac{1}{\frac{1}{15}} = \frac{15}{15}$$

$$\log_2^0 + \log_2^p = \log_2^0 = 10 + 1 = 11, 0 = \frac{1}{11}$$

$$\frac{\log_2^p}{\log_2^0} = \frac{\frac{15}{15}}{\frac{1}{11}} = 0, 150$$

6

$$\log_2^{p \times r} = \log_2^p + \log_2^{p \times r} = \frac{1}{p} + \frac{p}{p} \log_2^p = M \rightarrow \frac{p}{p} \log_2^p = M - \frac{1}{p}$$

$$\log_2^p = \frac{M-1}{p} \quad (1) \quad \log_2^p = \log_2^p + \log_2^p = 1 + \frac{1}{p} \log_2^p \quad (2)$$

$$(1) \& (2) \rightarrow 1 + \frac{M-1}{p} = \frac{p + M - 1}{p} = \frac{M + p}{p} = \frac{p}{p} (M + 1)$$

7

$$\left(\frac{p}{15}\right)^{p+1} = \left(\frac{p}{15}\right)^{p+1} = \left(\frac{p}{15}\right)^{-p+1}$$

$$\left(\frac{150}{p}\right)^{p+1} = \left(\frac{p}{15}\right)^{p+1} = \left(\frac{p}{15}\right)^{p+1} \quad \left\{ \left(\frac{p}{15}\right)^{-p+1} = \left(\frac{p}{15}\right)^{p+1} \rightarrow -p+1 = p+1 \right.$$

$$-p+1 = p+1 \Rightarrow \left(\frac{p}{15}\right)^{-p+1} = \left(\frac{150}{p}\right)^{p+1} \Rightarrow \left(\frac{p}{15}\right)^{-p+1} = \left(\frac{p}{15}\right)^{p+1} \checkmark$$

$$\frac{1}{p} \rightarrow \log_2^p = \log_2^p \Rightarrow \log_2^p = \frac{p}{p} \log_2^p = \frac{p}{p}$$

8

$$\log_2^b = p(1+a) \quad (1) \quad \log_2^p = a \rightarrow \log_2^p + \log_2^p = 1+a = \log_2^b$$

$$p \log_2^p = p(a+1) \rightarrow \log_2^p = p(a+1) \quad (2) \quad (1) \& (2) \rightarrow a = b$$

$$\log_2 (p(p+1)-1) = \log_2^{10} = p$$

9

$$\frac{-b}{-a} = \frac{b}{a} \rightarrow \frac{a}{b} \log_2^p = b = \frac{a}{\log_2^p} \quad \left\{ \begin{array}{l} pa = \frac{a}{\log_2^p} + c \\ pa = b + c \end{array} \right.$$

$$c = pa - \frac{a}{\log_2^p} = \frac{a}{p} = p - \frac{1}{\log_2^p} \quad \left(\frac{1}{\sqrt{p}} \right)^{\frac{1}{p}} = \left(\frac{1}{p} \right)^{\frac{1}{p}} \log_2^p \rightarrow \left(\frac{1}{p} \right)^{\frac{1}{p}} = \frac{1}{\log_2^p}$$

10